Chapter 3 Final Review

1. Factor each polynomidal.

q) 2a’b—8a’h

= 2atb(a-y4)

c) —3.\}'(’ -1 S.vrlj--‘l +3xy

 ~3xy(yS+5xy-1)

e) T2x7y" —48x" y+80x7y

* 8x'y(9y*-6x+10)

gl “94°h’ —12a°h* + 64’

. ~30*(30*b5+ 413 - 20)

i)~ 12f°¢° +6f°g" +12f g’ +54f°¢’

o) Ox’y* +27xp°

S 9!!"’ (Xlg'-l- 3)

d) 2y’ +2y° +4y

: 2y(yxs+y‘+z)

f) 18u"v’ —54u’v’ =27y’

= Juv*(2u*vi- eulv-3)

h) 24y° +20y° -8y°x

s 49’(65"-} 53 -2&)

i) 2 lab® —21a’b? —35ab*> —14a’h

-“‘Sa(zfzgs_ §'-21g-9) * - 7ab(3b*+ 30k +5b - 2a)

2. Factor each trinomial.

q) ¥’ ~9x+18 < =3 . )2

hine,
”du,u

2t AR

= (X-b)x-3)

p’—14p+40

c) I A

40

o=y

= (p-4)(p-10)
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b) x* —15x+54 :21’_‘3 sy
94k -15

s (%=-9)x%-6)

d) X'+ x—42 _1__ ® :E = =Y
diz2e= )

2 (x+7)x-b)



e) n* V2 +36 =1,.-8:=3¢5 f) m® +9n+12 L SN
d+B:=-n T+ =9

: (N-1)Xn-5) e (N+1)(n+2)

g) I +3r-28 1y =4- -28 h) X' +7x+6 A b =0
L+v:-3 1L+

& x-S =-50

i 12 e 94 ‘3_ : =02 i) m’ + 5m —50
.3 . -1 L B ~
= (r-4)x+3) = (m+10)(M-5)
3. Factor each trinomial. 3
T 2 xM=-20 b) 3k ~7k-10 .-':*— T
e = 5 4+°% . ~— 13 1043 - -7
(SN-4)=- (3X-10) = -30
S5r*. Srg- Yr-y 3Kk 4 3|¢E. 10k~ 10
Srir+1)-u(r+) 3K (K#)=10(K+1)
2 (r+1)(Sr-y4) = (K+1)(3k-10)
o 7 +20x+12 Bl ge 3x-2x-16 2l -t
- b s =
(Ix2) = 84 L+H=20 (3X-1b) = -48 =
'Ix‘-l-l‘!xg-t-bx +iz 3% +ox'— 8x — lb
M (x+2)+b(x+2) 3x(x+2)-8(x+2)
= (x4+2)(+b) 2 (w+2)(3%-8)
) IP°=5p-2 Twl ooy )97 12032 Bxll=-28
- (W, | - =2 -
(N-D=-ly 2+ 2 =-5 (9)(-32) = - 288 Ll -
_7p. ] '
-'P - r;-o-zp-?. Oxt—24x'+ 12x-32
p(p-1)+2(p-1) 3¢ (3x-8)+4(3x-8)
= (p-Np+2) : (3%-8)(3x+ W)

Final Review Page 3



g) Art+15r-25 20,25 =-100 h) 4 +x-5 “2x5=-2

Web =05 ~—7 445,
(4X-25)= -100 (4x-5)=-120 -
4r® +20r -Sr-25 4x*— 4%+ 5x-5
4r(r+5)-5(r+5) 4x(x-1)+5S(x-1)
= (r+5)(4ar-3) s (x=-1)(4x+5)
gopteszp-12 S w2108 ) 0r 4 7x-2 S .t:-18
L S +°2 = gy 9 +=2: 9
(9N-12) = -j08 — (9N-2)=-18
[}
9p* + Stpi- 2p- 12 9x* + Sx':- -2
9p(p+6) -2(p+6) 9x (x+1)-2(x+1)
: (p+6)(9-2) = (x+1)(9x-2)
4. Factor each polynomial.
a) 16x* —9y° b) 49x° ~25
: (“_39)(4,‘4.39) = (1%¢-5)(1x+5)
c) 4a’ —9b’ d) 225-121x"
s (20-3b)(2a+3b) = (15-1Ux)(15+1Ix)
e) 4x° +12x+9 f) 16x° +24x+9
= (2x+3)(2x+3) = (4x+3)(4x+3)
= (2x+3)* = (4x+3)
g) 25x* —20x+4 h) 9x° —30x+25
= (Sx-2)(5x-2) = (3x-5)(3x-5)
= (Sx-2) = (3-5)
i) 25x* —10x+1 i a3+»t+16
= (Sx=1)(5x-1) : (a+u)latt)
= (sx-1)* = (a+y)?
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5. Expand and simplify each expression.

a) (x+3)(x+2)
2 X+ edntl
P A S '

)

Q) (3a+2)(a-5)

= 3a*-15a+2a.-10
= 30t-130.-10

o) [2;)+3):3p—])

\
s b,;*-zp+ 9%p-3

= bp*+p-3

ol (2b+7)(2b* =2b-4)

= 4bP- 4l 8b + I4b - Iyb - 28
= 4b® +10b>~ 20b - 28

”~ >N
] (3x +6x+8§i8x—5\)
AN

= 249x3 - 15 + 48~ 20x + bMx-Y40
= 2 + 33x* +34x-40

Y
) 2(x+3)+3(3x-2)

2e+b + 92 -0
1}

A
x(x-3

2x .]+
22x*-bx+x-8%~-120

= 2x*- (3¢ -120

N
x—=4(2x+5)

m)
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= 2ty 8x-4x-32
z x4+ 4x-32

)

d) (2x—5)(4x—7)

¢

= 8x*- 4x-20x + 35

= 8x - 34x + 35

Ve
4x—1)(7x-9)

()
= 28x*-3bx-1x+9
= 28x%-43x +9

f (

) (4n+1)(4n° +3n+38)

=lbn®+ 12n*+ 3N+ 4Yn*+3n+ 8

= lon® +lbn® + 35n + 8

; (5x —6.1'+])E?):—?)
= 35x3- 35x% - 42X  $ Y2 + T =11
= 35x3-17x e 4qox-

= RPe et —Ux -4
s XP+ U +U-—Yx-4 = XxX*

AN A

) 2+4(x" 3x+4)-(x+7)
2 24 4x* -1+l -x-1

z Yxt-132 + 1l



6. Given that the area of the rectangle below is 2x* +9x-5 , determine the length of the rectangle.
P a1

x+5 Area. = l,ms&h x width
—

wid+h 22+ 9x- -l_o_ ‘_'_" s =10
23 0 +2=9

Length (2)-5) = -0

1 =lx -5
Area = 2x*+ 9% =5 2+ 10x-lx
2x (x+8)-1(x+5)

(x+5)(2x—1) length.

7. Determine an expression to represent the shaded area below.

Shaded area =
lar,c ruhnslc -

x+5 small ncb.n,lc-

2x 4 112 +35
-(x*=- Sx +4)

2x+7
Cx"-l-zu-rsl}
Area. of small ( m) Area of Iargc

rectanale rectangle :
2 (2x+1){(x+5)
2 XPen-Yx+y

2 Xl-Sx+ Yy = 2 +10x + ¢ +35
2 2x 4+ 1Mx +35

8. Determine a simplified expression for the volume of the prism below. Remember, V' = Lx wxh

x+3 =h

V= (3x*-8x-1b)(x+3)
cho _

= 3x34 9x*- 8x>— Upx-lbx
D) -48

V= (3x+%)(x-4)(x+3)
</ = 3xd ¢+ x*-4ox - 48
s (3x*- 1204 yx-1b)(x+3)
= (3x*-8x-1b)(x+3)

Nt = |

Additional Practice: p.199 #11bdf, 12abc, 13, 18acef, 19, 24bdf, 25, 27ac, 30, 32, 33ace
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